the ¥yt 7ol BC//AO ©]1, /AOB = 40° & o, /BOC ¢}t
LOBC 9| Z719] 2H& tatofet.

BC//AC °]1 A 0 °|A A C & 9ZE3HH A0BC & °l5H
AHgolnz

/BOC = 180° — 40° — 40° = 100° ]2

/AOB = /OBC = 40° |22 /BOC - £OBC = 100° — 40° =
60° °]tt.




oS 199 9 0 oA AD // OC °]i, .COB =

o 371& Fotofer.

>
> ®eh: 140°

20° ¢ wj, LAOD

AD//OC °]2& /COB = 20° = /DAB ©o|t}.

AAQOD 7} o] SHAZFg o] B2 /AOD = 180°-20°-20° = 140°

olt.




3. oS IFGGHCF = 90 9 =201 AF//BE//CD € o, t+-&
% (BOC 9] 2719} g& sht=?

C S F
E
D
@ /AFO @ /0DC ® ,0CD
@ (EOF @ACOD
AF//BE//CD ©]E22 /BOC = /AFO (597, /BOC =

/0CD (917}, /BOC = /EOF (Wiz}ﬂ) o]i, AOCD ¥ o]
SHAZIg ol B2 /BOC = £ODC ©]tt.




